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Answer either in English or in Assamese

1. Answer the following questions :

1x7=7
(@) What is racemic mixture ?
Qe fiwe e
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(d) Explain why meso compounds are not

optically active.

(b) Derive Born-Lande equation to find

lattice energy of an ionic solid.

o T CT o (bR R Refa R o
O (T1ITR R wiitemiemifim s 2 TS NI Sfeed|
(e) Write down the R/S configurations of (¢ Draw the Newman projection

the following compounds :

conformers of n-butane ? Write about

o) Cﬁﬂm{{a R/S ANt By o their stabilities. |
o NH, n- RO RECH ATFod SEe (20! AF
H3C—}__c2 H Ty l cH, o SffEFel TAIE ol
: H (d) () Write down Corey-House reaction
(i) CC()SH | for the synthesis of higher alkane ?
i ; 5
Answer any three of :
i . the followin
duestions : Sx3=15 T MIRT O GO A IR
R R ffvrs Seq ot o Ca-QTr TN T
@ (i) What is carbanion? Explain the

() State Markovnikov rule and

explain with example, 2

E"ﬁm%m@mqum

(i) Write down th
' € mechani
following reaction ; s ot thg

Wﬁmw&mz

(e) ()

stability of the 1°-, 2°- and
3°- carbanion ? 1+2=3
BT 2 1°-, 2°- % 3°- PIEATE
AfEEel I FR|

Account for the fact that BFj3 is
non-polar ? 2

BF; Gt SIS | I 3 |

e ea v

R—C=CH, + HBr C6Hs0C—0—0—cocgHs H, H,
H —R—C—C—Br
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() Explain the shape of CIF; molecule
on the basis of VSEPR theory.
3

VSEPR 93 SRS CIF; (TSI S
Rl ===

An swer an
questions :

Wﬁ@mﬁﬁﬁm@mﬁmg

al ) \
| (@) @) Walte two differences between
inductive effec;t and mesometric

Y three of the following
10x3=30

(iv) State and explain Saytzeff rule

with appropriate example. 3
Boige Buimerir (RR5rerR Aife! AR
iy SN

(b) Write about the following: 2.5%4=10
wers fraT 3 WS

(i) Electromeric effect.

S RS ASR

effect. . 5
?‘;jnﬁg S TR FT Tore ol (i) Electrophilic addition of bromine
@ H bl 1 (Brp) to ethylene
u ow will you convert ;
acetic acid ? ort acetylene mtg 23S Br, I @ANE ffert
:wl%'/ﬁgi%w < fRfos GBS T (iii) Why is acetylene more acidic than
fi) ? ethane ?
W) What product wj B
ill b : * : '
K}aen Propene ﬁn‘élitf"éed FReE ReRlw @R wifFs e
Ey ro.boratlon-oxidation react]‘g eg ‘ )
xplain. oné (iv) Kolbe’s reaction of preparation of
TP T | G eefore 'Y Ry Resy afe
3 (Sem-1/C
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(¢ () An organic compound - X (C4Hp)

()

reacts with two molecules of
hydrogen. |t reacts with
am.rnoniacal silver nitrate to form
w%ute precipitate. On treatment
with dilute sulphuric acid, in
bresence of mercury sulphat:e it
forms a ketone Y (C4Hz0). WI"ite

the reactions inv
olved : .
Xand v and 1dent1fZ

9Bt &R Cﬁﬁ, X (C4Hg) E‘m B b pass!
S rS e 90 1 R PR fRerer
Waﬁﬁwﬁﬁaﬂtwaswqa@
¥ HgS0, 3 Soififes H,S0, 3 59
Rt 3R X @ R e —

Y (C4Hs0) RRFmPe AR x we
: b's
e 1 d

Which one of th
e following j _
polar and why owing is mor2e

SO2 ) COQ

S0z &% CO, 7 fowe
g 2 !
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(iii)

(v)

d @

(@)

(iii)
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AlCl; is a covalent compound in
solid state but is ionic in aqueous
solution. Explain. 2

P SR AlC; B TG (o, 8
T TR SN | RN

How many radial and angular
nodes will be there for 3p and 3d

orbital ? 2

3p % 3d TRREGAS RFA! &=
iF (ST 7T MR?
Find the frequency and wave

number of first line in the Balmer
series of H-atom spectrum. 3

PRGN @A I @R AW
@I FRIE I SR Bt

Discuss the utility of Born-Haber
cycle. 3

F-(ZAR 53T o] SoirTifaet Sien 34 |

What is meant by polarising power
and polarizability ? 2

£ TS Wi gERwet Ww T g@e
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(iv)

State the limitations of valence
bond theory. 2

. el AR ET ATl T

(e) ()

()

(ifi)

Identify the product and give a
plausible mechanism : 3

RiFaor RiTrmears md ffa v o
o1 fFaffg & e

Conc. Hr,SO,
C,H-OH 2274
2775 443K ?

What happens when

l-bromopropane reacts with
NaNH, at 130°C? 2

130°C B%6OIS 1- VAN NaNH, I
are kit k@ & 290

State and explain Heisenberg’s
uncertainty principle. , 2

QRO BT 5 R <grgt 4 |
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(iv) An electron is present in 4f
subshell. Give the possible values
of its four quantum numbers. Why
are 2d and 3f orbitals not
possible ? 3

Vg 4f AT AT T
SIS RIS iyt fodt 2d W% 3f
waRee 781 WA e
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